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RESOLUCIÓN DE SISTEMAS DE ECUACIONES NO LINEALES 

 
Resuelve los siguientes sistemas de ecuaciones: 
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Soluciones: 
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4y2 + y2 = 20 ⇒ 5y2 = 20 ⇒ y2 = 4 ⇒ y = ± 2 ⇒ x = ± 4 
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  Solución: x 4 , y 3= =  

 
y = 7 – x   

x2 – (7 – x)2 = 7 ⇒ x2 – 49 + 14x – x2 = 7 ⇒ 14x = 56 ⇒ x = 4 ⇒ y = 7 – 4 = 3 
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  Solución: x 5 , y 2= = −  

 
y = 3 – x   

x2  – (3 – x)2 = 21  ⇒ x2 – 9 + 6x – x2 = 21  ⇒ 6x = 30  ⇒ x = 5 ⇒ y = 3 – 5 = - 2  
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x = 3y – 3 

(3y – 3)2 – 5 = y2 ⇒ 9y2 + 9 – 18y – 5 – y2 = 0 ⇒ 8y2 – 18y + 4 = 0 ⇒ 4y2 – 9y + 2 = 0   

2 1 1
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9 7y 2 x 39 9 4·4· 2 9 7 8y
9 7 1 92· 4 8 y x
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y = 10 – x  

x2 + (10 – x)2 = 52 ⇒ x2 + 100 – 20x + x2 – 52 = 0  ⇒ 2x2 – 20x + 48 = 0 ⇒ x2 – 10x + 24 = 0  

2 1 1

2 2

10 2x 6 y 410 10 4· 24 10 2 2x
10 22 2 x 4 y 6
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  Solución: 1 1
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y = 8 – x  

x2 + (8 – x)2 = 34 ⇒ x2 + 64 – 16x + x2 – 34 = 0  ⇒ 2x2 – 16x + 30 = 0 ⇒ x2 – 8x + 15 = 0  

2 1 1

2 2

8 2x 5 y 38 8 4· 15 8 2 2x
8 22 2 x 3 y 5
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 ⇒ x2 = 9 ⇒ x = ± 3 ⇒ 9 – y2 = 5 ⇒ y2 = 4 ⇒ y = ± 2 
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y = x – 2   

x (x – 2) = 48 ⇒ x2  – 2x – 48 = 0   

2 1 1

2 2

2 14x 8 y 62 2 4· ( 48) 2 14 2x
2 142 2 x 6 y 8
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y = x – 21   

x (x – 21) = 100 ⇒ x2  – 21x – 100 = 0   

2 1 1

2 2

21 29x 25 y 421 21 4· ( 100) 21 29 2x
21 292 2 x 4 y 25
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  Solución: 1 1

2 2

x 4 , y 1
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y = 5 – x    

(6 + x)(12 – x) = 80 ⇒ 72 – 6x + 12x – x2 = 80  ⇒ x2  – 6x + 8 = 0   

2 1 1

2 2

6 2x 4 y 16 6 4·8 6 2 2x
6 22 2 x 2 y 3

2

+⎧ = = ⇒ =⎪± − ± ⎪= = = ⎨ −⎪ = = ⇒ =
⎪⎩

 

 
 

12) 
⎩
⎨
⎧

=+−
=+

2)1)(1(
3
yx

yx
  Solución: 1 1

2 2

x 3 , y 0
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y = 3 – x    ⇒  (x – 1)(4 – x) = 2 ⇒ 4x – x2 – 4 + x  = 2  ⇒ x2  – 5x + 6 = 0   

2 1 1

2 2

5 1x 3 y 05 5 4·6 5 1 2x
5 12 2 x 2 y 1
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 ⇒ y2 = 4 ⇒ y = ± 2 ⇒ x2 + 4 = 13 ⇒ x2 = 9  ⇒  x = ± 3 
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y =  x – 5  

(x  – 5)2  – 2x2  = - 14  ⇒  x2  – 10x + 25 – 2x2 + 14 = 0 ⇒ x2 + 10x – 39 = 0   

2 1 1

2 2

10 16x 3 y 210 ( 10) 4·( 39) 5 1 2x
10 162 2 x 13 y 18
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